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145,320,000
HUITAAIR E 42 145,320,000
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HESHE Ler2teld 208 E « 804 « 18,000 * 12012 | 34,560,000

SAUEFHEH LBt2teldl 208E « 7IHA » 15,000 » 12912 | 25,200,000

SAUEFHEH Let2eldl 208E « 7IHA » 16,000 » 12012 | 26,880,000

SAUEFHEH Lot2teldl 30EE « 2044 » 18,000 » 12012 | 12,960,000

SAUEFHEH LBt 30EE « 1JHA » 16,000 = 120H& | 5,760,000

EAEFHEH LBt 308E « 1JHa » 17,0002 » 120H€ | 6,120,000

EAEFHEH LBt2teldl 408E « 1JHa » 17,0002  120H€ | 8,160,000

EAEFHEH LBt2teldl 408 S « 1JHa » 18,000 » 120H& | 8,640,000

FHE=HE det2teldl 608 E « 1 A « 17,0008 » 129H& | 12,240,000

HEEFHEH HAEE 204 * 400,000 = 602 4,800,000
144,059,000
=10X&23 144,059,000

JIEt=10XE =S 44,059,000

HEESHH SAJISE N2 44,059,000
NXHMA&2 | 100,000,000
HHUEFHH 20| Nz 15,000,000
HEEFHEH QHAAl XIAZ 35,000,000
OHAFAl & &H A AL H 20,000,000
OHAMAl HEHE A S H FHALY 30,000,000
53,000,000
234 53,000,000
ae|e2 21,000,000 |ESESHEH A=A LLHIIF2 7IHAF = 3,000,000& | 21,000,000
HA0183 32,000,000 [HHS HEMHH HE SIS S0 2U*3%*4IM A | 32,000,000
232+9 2,224,350
292+ 2,224,350
Ol K=< 1,724,350 |2 ESHEH EII032 Ol A=+ 1,724,350
JlEt2 % Q4o 500,000 |2 E=SHH JIEt 22 500,000
S 12,000,000
DEHE = 12,000,000
duEssg3%| 12,000,000 |- E#HESHEH 2SS 4HEHM * 3,000,000 12,000,000
X EHS A 29H 2
89,800,260 | ,—ZZQQEH‘E |I oﬁ'ﬁ 88,100,260% 89,300,260
A= HBA 445,903,610
OHAMOHE W EH A3 E
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23 144,059,000
Y| 144,059,000
Sikalsl 27,466,720

AAERHEH M2 0HLIN 1248 3,433,340 » 8JH& | 27,466,720
A2 A& 116,592,280

HASKHE NHE S= L =2H X 1,000,0009 * 8I4AH| 8,000,000

HHEFHE E20HAEHl X 600,000& *6IH Al 4,000,000

A HEH AINSHEY K& 1,000,000& *40I4AF | 39,333,280

AAESHE LN DEH XR(HE E) 2,400,000

JIEt2ZHI 2,859,000

01 HALE Ul 40 A 10,000,000

QHAAI-EHEZHHE H S AFS 30,000,000

QHAAI-E S & H 3 AL 20,000,000
194,519,940
gt 194,519,940
MESECRSE 66,613,376

HHEEFHEH 282 500,000& « 1212 6,000,000

AASRHEH M2 0HLIAM 1248 3,433,340 = 4J4& | 13,733,360

AAERHEH EF 0HLIAM C1248] 1,850,000& * 12J0& | 22,200,000

HHEFHE XIIHLHl 600,000 « 2 « 23] 2,400,000

HAESRHH HEREZ 400,000& « 2% « 121 & 9,600,000

HAEFHH LM 403 3,433,340+1,850,000& 5,283,340

HAESREEH HESIH 20 » 298 * 60% * 23] 7,396,676
S ESE= 10 5,283,340

HHESHH M2 LM &S 3,433,340

HHESHH E5 LA EAS 1,850,000

S 1,200,000 |2 EFHH S2I=MHl 100,000& + 124 1,200,000

ORI mE==1s] 2,400,000 |22 HH HHl W SHl 200,000& + 1242 2,400,000

nEsdl 3,000,000 |2 ERHH =& 1,500,000& * 29 3,000,000

22 ZH| 600,000 |2 ESHEH 22 EH| 100,000& * 6IHE 600,000
g =4 4,500,000

HUESMdH 2018 tHE WAHbHl 100,000& = 12I4HE | 1,200,000

FAESHEH el Jl2 2tH A WHEl 100,000& = 12J4& | 1,200,000

HAdEs4dH 2tet S 100,000& * 62l 600,000

HAESHE JIE =8| 1,500,000
2|2l ] 2,200,000

HHESHEH 29 32| 200,000 * 63 1,200,000

HHEFHEH 32 AlH| 100,000& * 103/ 1,000,000
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